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1. Find the mean, median and mode of each dataset. -
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2. Determine if there are any outliers in the data sets from question #1. If so, what are

they? (1.5 ) I QR Test
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3. Find the mean, median and mode of the changes in stock value from the table below. If
the value of the stock increases by $4.28, how does this affect the mean, median and
mode? :
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4. The range and standard deviation of a data set are listed below. If each value in the data
set is multiplied by 2.5, how does this change the range and standard deviation?

Range: 105 (2—6)
Standard Deviation: 4.6 (2 5>
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5. Find the standard deviation of each data set.
a. 141,116,117, 135, 126 b. 2,51,6,8
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6. Given the box-n-whisker plot below — find each value.
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7. The dot plot represents the number of hours students study for an exam. Make a-box-n-
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8. A baseball player scores 101 runs in a season. The box-n-whisker plot represents the
number of runs the player scores against different opposing teams.
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a. Find and interpret the range and IQR of the data.
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b. Describe the distribution of the data.

Skewed right

c. Isthe data more spread out between Q1 and Q2 or between Q2 and Q3?
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9. The frequency table shows the results of a survey that asked people how many hours

they spent onllq_? er week. Display the data_m_q a histogram. Deinb,e_tma_s_hgpg,gf_the

data.
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10. Describe the data displayed in the histogram. What is the best measure to used based
on the shape? :
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11. The table shows the results of a survey that asked freshmen and sophomores how many

songs they have downloaded on their iPhone.
a. Make a double box-n-whisker plot that
represents the data.
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12. A student scored 75, 88 and 95 respectively on their first 3 unit exams. What do they

have to score on their 4" exam to have an average of 87? ) 23U = 2‘5% + X
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13. A card is drawn from a standard deck and fEturned to the d eforethenext card is

drawn. Find the probability that the first card i is” a spade and the second( card is red.)
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14. A study of consumer smoking habits includes 200 married people (54 of whom smoke),
100 divorced people (38 of whom smaoke), and 50 single people (11 of whom smoke). If
one person is randomly selected, find the probability of getting a smoker or someone
whois divorced. ( Ai mst
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15. Two cards are drawn wifhout replacement from a standard deck. Find the probabili"c-v,,ar
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b. bothcards are kings
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Lﬂ/k?6 A box contains 4 red and tW’Q,VE_llQW tlcket\s Three tlckej\_cl are randomly selected from
the box, one by one (Wlth replacemeﬁt What is the probability that all three are yellow?
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